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SC.912.L.17.20 – Human Impact – Example 4 Answer 

DDT and other pesticides used over 50 years ago are still affecting the environment 
today. Scientists have found these substances in recent glacier runoff. Glacier runoff 
occurs during the summer, when precipitation that has fallen on glaciers during the 
winter is released. Ice layers from existing glaciers have been analyzed. The results of 
this analysis show that the concentrations of DDT and other pesticides were highest 
about 10 years after the use of these substances was banned.  

This information shows that 

A. DDT and other pesticides cause glacier runoff during the summer. 

B. it takes humans over 50 years to analyze a glacier. 

C. precipitation helps to break down pesticides. 

D. the decision of one human generation may have an impact on future 
generations. 

Answer 

D. the decision of one human generation may have an impact on future generations. 

 


